
2019(Odd) 
1615304

Time : 4Hrs. Sem - III/C/R   
Build. Drg.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Two questions from Group B, each question 

carries 10 marks.

Answer all Two questions from Group C, each question 

carries 15 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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2 1615304

1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

As per I.S. code 962-1967, the size of title 

block is :

(a) 200 mm ´ 100mm

(b) 150 mm ´ 100 mm

(c) 150 mm ´ 200 mm

(d) 100 mm ´ 150 mm

I.S. 

Multistoreyed building are the buildings 

having more than 4 storey  height more than

(a) 15 m

(b) 14 m

(c) 20 m

(d) 18 m

NT3016231615304

5.

plan and given specifications-I.
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(iii)

(iv)

(iii)

(ii)

(a) To trace drawing on tracing paper

(b) To ink or colour drawing

(c) To make ammonia or blue prints

(d) All the above

(a) Assembly building

(b) Institutional building

(c) Industries building

(d) Mercantile building

1615304
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4 1615304

(iv)

(v)

(v)

(vi)

(a) Kitchen

(b) Bed room

(c) Dinning room

(d) Toilets

its picture on PP appears to be :

(a) Shortened

(b) Enlarged

(c) Same as that of the object

(d) None of these

NT3016211615304 NT3016

Draw the front elevation to a suitable scale of 

given line plan and specifications - I.

OR ( ) 
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(vii)

(vii)

(viii)

(vi) (PP)  

The perspective view of any given object 

may be obtained by :

(a) Visual ray method

(b) Vanishing point method

(c) Both (a) and (b)

(d) None of the above

(a) Rise 

(b) Tread

(c) Flight

(d) Rise

1615304
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(viii)

(ix)

(ix)

string and hard rail to give support to the 
hand rail-
(a) Newal post
(b) Baluster
(c) Soffit
(d) None of these

0
(a) 40

0
(b) 45

0
(c) 50

0
(d) 60

(x)

NT3016191615304 NT3016

With the help of given line plan and specifications-I

draw the detailed plan of the building on suitable 

scale.

4.
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According to National building code, key 
plan is never drawn to a scale of less than :
(a) 1 : 100
(b) 1 : 1000
(c) 1 : 10000
(d) None of the above

(a) Three times the depth
(b) 2.5 times the depth
(c) 2 times the depth
(d) None of the above

 

(xi)

(xi)

(xii)

(x)

1615304
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The standard height of door should be :

(a) 1.8 m

(b) 2.0 m

(c) 2.1 m

(d) All the above

openings.

(a) Provided

(b) Not provided

(c) Necessarily provided

(d) All of the above

(xiv)

(xii)

(xiii)

(xiii)

NT3016171615304

Parapet :- 

200 mm thick and 450 mm high. 

50 mm ´ 50 mm coping is provided all around the 

roof.

Flooring :- 

25mm thick patent stone flooring over 

120 mm thick P.C.C. over brick flat soling over 

sand filling.

Lintel :- 

150 mm thick R.C.C. lintel . Sun shade 450 mm 

projection.

Note :- Missing data may be suitably assumed.

NT3016
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(xiv)

(xv)

(xv)

1615304
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(a) 

(b) 

(c) 

(d) 

The maximum permissible covered area for 
2 2area of plot between 201m  to 500m  as per

building bye laws is:
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NT3016161615304

Foundation:- 

Depth of foundation = 1000 mm,

Thickness of cement concrete = 200 mm and 800mm 

wide. 

Two stepped footing are provided.

Plinth:-  

Plinth height = 450 mm 

Thickness of wall in Plinth = 300 mm. A 25 mm 

thick D.P.C. is provided.

Super Structure :-

Thickness of wall in super Structure = 200 mm

Ceiling height = 3300 mm

Roof :- 125 mm R.C.C. Slab with 100 mm thick 

lime terrace over R.C.C. roof slab.

                 GROUP  - C

15 x 2 = 30
Answer all Two Questions.

Specifications - I 

NT3016
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Three is a 0 to 300 mm open space between 

two flights, the stair is:

(a) Open well stair

(b) Dog legged stair

(c) Open Newel Stair

(d) None of these

be obtained from.

(a) Cross-sectional elevation of a building

(b) Elevation

(c) Plan

(d) All of the above

(xvii)

(xvii)

(xvi)

(xvi)

NT301615
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Draw to a suitable scale of the plan of an open 

newel stair with following details :

Inside dimension of a stair case = 6m ´ 4.5 m

Height between the floors = 3.75 m

Thickness of the waist slab = 150 mm

Width of a stair = 1500 mm

Thickness of wall = 300 mm

Thickness of landing = 150 mm

OR

NT3016
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The number of steps in a flight should not 

be less than :

(a) 5

(b) 2

(c) 3

(d) None of these

(a) Single Shutter

(b) Double Shutter

(c) Both (a) and (b)

(d) None of the above

1615304

(xviii)

P.T.O

(xviii)

(xix)

(xix)

NT3016141615304

3.

height 60 mm is resting on the ground on its base 

with one of the base edges making 50° with the PP. 

The corner nearest to the PP is 15 mm behind it. 

The station point is 35 mm to the right of the nearest 

corner to the PP and 60 mm away from the PP. The

horizon plane is 80 mm above the ground plane. 

Draw the perspective view of the object.

NT3016
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(xx)

(xx)

What is minimum value of bearing of a 

lintel ?

(a) 15 cm

(b) 10 cm

(c) 5 cm

(d) Zero

NT301613

OR

1615304
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10 x 2 = 20
Answer all Two Questions.

Draw the  symbols of the following :

(i)  Hidden line

(ii) Section line

(iii) Double leaf single swing door

(iv) Two way sliding door

(v)  Wood

office' with following requirements :

Entrance cum waiting room, Public dealing counters, 

Working space for other staffs, Office of postmaster, 

Store room , Water room, Urinal, W.C. etc

2.

10

NT3016
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OR (  ) 

With the help of  given line plan and specifications-I 

draw foundation plan on suitable scale.
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OR (  ) 

With the help of  given line plan and specifications-I

draw foundation plan on suitable scale.
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